Competitive Advantage Scenarios

BBB4M1 – Mr. Flanders

For each scenario:

i) State what type of advantage scenario is represented

ii) What will be the output of each nation (product and number) as well as the overall changes in total production after specialization

1)

	
	Capacity
	
	Production
	
	Trade

	
	Wool
	Wine
	
	Wool
	Wine
	
	Wool
	Wine

	England
	100
	25
	
	
	
	
	
	

	Portugal
	60
	20
	
	
	
	
	
	

	TOTAL
	
	
	
	
	
	
	
	


2)

	
	Capacity
	
	Production
	
	Trade

	
	Lamb
	Wheat
	
	Lamb
	Wheat
	
	Lamb
	Wheat

	Canada
	20
	100
	
	
	
	
	
	

	Australia
	80
	50
	
	
	
	
	
	

	TOTAL
	
	
	
	
	
	
	
	


3)

	
	Capacity
	
	Production
	                       
	Trade

	
	Beer
	Chocolate
	
	Beer
	Chocolate
	
	Beer
	Chocolate

	France
	60
	75
	
	
	
	
	
	

	Belgium
	90
	100
	
	
	
	
	
	

	TOTAL
	
	
	
	
	
	
	
	


